


Form 4-148, 11-08 
Sheet 6 of 6 

11250 HUNTER DRIVE BRIDGETON, MO 63044

PPP- Paint Code Required 
A/R- As Required 
REF- Reference

Index
No. Part Number Description Front

Targets
Rear

Targets 

1 214-115-1 TARGET ASSEMBLY, FRONT PLASTIC LH (Consisting Of:) 1  
OR 214-114-1 TARGET ASSEMBLY, FRONT PLASTIC RH (Not Illustrated) 1  
2 214-112-1 TARGET ASSEMBLY, REAR PLASTIC RH (Consisting Of:)  1 

0R 214-113-1 TARGET ASSEMBLY, REAR PLASTIC LH (Not Illustrated)  1 
3 105-376-3 HOUSING-FRONT WITH BUMPER 1  
4 105-380-3 HOUSING-REAR WITH BUMPER  1 
5 97-485-2 SHAFT, DSP600 TARGET 1 1 
6 77-26-2 WASHER, FLAT 3/8 TPA-N 1 1 
7 76-34-2 NUT, JAM 3/8-24 1 1 
8 51-1714 PLATE, BACKUP FRONT 1  
9 51-1715 PLATE, BACKUP REAR  1 

10 75-573-2 FLAT HEAD SHEET METAL SCREW 10-16 X .5 4 4 
11 214-109-1 TARGET ASSEMBLY, FRONT 1.86 1  
12 214-104-1 TARGET ASSEMBLY, REAR 2.22  1 
13 77-276-2 WASHER-SPRING CURVED #10 3 3 
14 76-263-2 NUT, LOCK 10-32 NYLON INSERT 3 3 
15 105-369-2 HOUSING, LEVEL TARGET 2 2 
16 128-970-2 DECAL, DSP400 TARGET WARNING (Not Illustrated) 1 1 
17 221-631-2 TOOL LEVEL, DSP400 TARGET 1 1 


